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BİL 212 - FILE ORGANIZATION AND PROCESSING

1998-99  SPRING SEMESTER

QUIZ   # 3 (March 2, 1999)
Question) Suppose that it takes 3/2 the read time to process one block. In how much time we can process the whole file using track-sized buffers?

Explain each step of your solution throughly.

Parameters for the IBM 3380:
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Block size

2400 bytes



btt

Block transfer time

0.8 ms = B/t



C

Blocks Per cylinder

600



ebt

Effective btt

0,84 ms = B/t’



m

Mimimum seek time

3 ms



N

Number of cylinders

885 (Per spindle)



r

Average rotational latency

8,3 ms



s

Average seek time

16 ms



t

Speed

3000 bytes/ms



t’

Formatted speed

2857 bytes/ms




